# **Newton Moore Senior High School**



YEAR EIGHT 2025

2025
25 923 08 B

**NEWTON MOORE SENIOR HIGH SCHOOL**Achieving Today for Tomorrow

# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 13th December 2024 Using "2VXW" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

### HOME DELIVERY

Your order will be delivered by the 28th January 2025 for \$8.00, if placed on or before the return date of Friday 13th December 2024.

Orders placed after the return date will incur a late fee of up to \$15.00. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



# Please tick the items required in the box provided

### YEAR EIGHT

NMSHS provides a comprehensive IT infrastructure to support learning in the digital age. The School provides internet access and extensive wireless coverage across the whole school. It is our expectation that students from all year groups bring their own device to support learning in our school. BYOD means you can bring an appropriate laptop or tablet to school and use it in classes and for study purposes.

	school and use it in classes and for study purposes.		J	 •	•	
	STATIONERY					
P54325	2025 Diary A5 Student Cumberland	1		1	2.15	2.15
P55110	Binder A4 2D Ring 25mm PE Black	2		1	5.45	5.45
P55709	Dividers Index A4 5 Tab (Board)	3		1	1.10	1.10
P58510	Eraser Plastic Pencil Large With Sleeve	4		1	0.40	0.40
P51685	Glue Stick 40gm Artline Clear	5		1	2.75	2.75
P52501	Headphones with Volume Control (single jack)	6		1	15.95	15.95
P50193	Highlighter Marker - Blue	7		1	1.60	1.60
P55097	Lever Arch File A4 75mm Board	8		1	5.40	5.40
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	9		1	3.95	3.95
P56094	Pen Ballpoint Cap Type Black Medium	10		2	0.35	0.70
P56095	Pen Ballpoint Cap Type Blue Medium	11		2	0.35	0.70
P56096	Pen Ballpoint Cap Type Red Medium	12		1	0.35	0.35
P50006	Pencil (HB) Micador Essential	13		5	0.35	1.75
P56216	Pencil Case 375x264mm 2 Zip Tartan Giant	14		1	4.80	4.80
P56414	Ruler 300mm Plastic Clear	15		1	0.75	0.75
P56428	Safety Glasses Clear Wrap Around	16		1	6.45	6.45
P50424	Scissors 152mm Blue/Black Handle	17		1	1.80	1.80
P56242	Sharpener Pencil Barrel Double Hole (EL)	18		1	2.10	2.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	19		1	14.05	14.05
	AUSSIE OPTIMISM					
P12838	Aussie Optimism: Optimistic Thinking Skills Yr 7-8 Booklet [Curtin University]	20		1	16.99	16.99
P03306	Aussie Optimism: Social Life Skills Yr 5-6 Student Booklet [Curtin University]	21		1	16.99	16.99
P55494	Document Wallet FC Slimpick Green	22		1	1.10	1.10
	ENGLISH					
P55494	Document Wallet FC Slimpick Green	23		1	1.10	1.10
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	24		2	1.65	3.30
	HEALTH & PHYSICAL EDUCATION					
P55494	Document Wallet FC Slimpick Green	25		1	1.10	1.10
P54148	Exercise Book 225x175mm 64 Page 8mm Spirax	26		1	1.05	1.05
	HUMANITIES & SOCIAL SCIENCES					
P50281	Document Envelope A4 PP With Press Stud Clear	27		1	1.25	1.25
P50397	Lecture Book A4 140 Page Spiral	28		1	4.10	4.10
	LANGUAGES - JAPANESE					
P13740	Tuttle Pocket Japanese Dictionary (JAP-ENG/ENG-JAP) 2E [Samuel E. martin]	29		1	16.99	16.99
	(Optional)					
P55492	Document Wallet FC Slimpick Blue	30		1	1.10	1.10
P52545	Exercise Book A4 48 Page 9mm Dotted Thirds Spirax #101	31		1	1.30	1.30
	MATHEMATICS					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	32		1	41.95	41.95
DE 1016	(This calculator will be used for all six years of high school.)		_			
P51646	Mathomat Ruler R300T	33		1	6.65	6.65
P50114	Notebook A4 120 Page Q595/P595 Spiral	34		2	3.65	7.30

# Please tick the items required in the box provided $\downarrow$

			<b>√</b> i	•		
		Item	Item	Qty	Unit	Total
Office Use	Description	No.	Reqd	Reqd	Price \$	Amount \$
	MEDIA ART					
P55442	Display Book A4 20 Pocket Black Refillable	35		1	2.15	2.15
			_			
P51464	MUSIC  Headphones Stereo Deluxe Lightweight with Volume Control	36		1	11.05	11.05
P52506	Music Book A4 48 Page Ruled & Staved Spirax 243	37		1	2.20	2.20
P50006	Pencil (HB) Micador Essential	38		3	0.35	1.05
	MUSIC - SPECIALIST		_			
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	39		1	11.05	11.05
P52506	Music Book A4 48 Page Ruled & Staved Spirax 243	40		1	2.20	2.20
P50006	Pencil (HB) Micador Essential	41		3	0.35	1.05
	• •		_			
	PERFORMING ARTS - DANCE  Year 9 Dance Students should purchase a pair of apide length, block length,	oggings for nort	formanasa			
	Year 8 Dance Students should purchase a pair of ankle length, black I (No additional items required)	eggings for pen	omances.			
	(no additional nome requires)					
	SCIENCE					
P55494	Document Wallet FC Slimpick Green	42		1	1.10	1.10
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	43		4	1.65	6.60
	Safety Glasses Clear Wrap Around (see Stationery List)					
	SCIENCE - ENGINEERING SPECIALIST					
	Safety Glasses Clear Wrap Around (see Stationery List)					
	COLEMOS HODIZONO					
	SCIENCE - HORIZONS					
	Safety Glasses Clear Wrap Around (see Stationery List)					
	T&E - DESIGN & TECHNOLOGY - MATERIALS					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	44		1	9.55	9.55
	Safety Glasses Clear Wrap Around (see Stationery List)					
	T&E - DIGITAL TECHNOLOGIES					
P51834	Display Book A4 20 Pocket Insert Cover Black Non Refillable	45		1	4.95	4.95
			_			
P55498	T&E - FOOD SPECIALISATIONS  Document Wallet EC Slimpick Vellow	46		1	1.10	1.10
1 00400	Document Wallet FC Slimpick Yellow	46		ı	1.10	1.10
	VISUAL ART					
P58510	Eraser Plastic Pencil Large With Sleeve	47		2	0.40	0.80
P51685	Glue Stick 40gm Artline Clear	48		2	2.75	5.50
P50006	Pencil (HB) Micador Essential	49		5	0.35	1.75
P50424	Scissors 152mm Blue/Black Handle	50		1	1.80	1.80
P56451	Scrapbook 335x240mm 64 Page	51		1	2.10	2.10

## Please tick the items required in the box provided

**ESTIMATED AMOUNT DUE** 

(PRICES CORRECT AT 31/10/24)

☑ Item

Reqd

<u>\$</u>

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked:

Postage (Home delivery only) \$8.00

Office Use

Description